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����� ���� ���������� � ������� ������!��� ��� �������� "#�����$��%��&��' ���-

��' ��( )��+$��%�! OHN )��$��� 
X H XH X HX 5 / 3 YH Y H YHY 5 / 3

0 0(( ) / ) (( ) / )e e 1,r r b r r b� � � �
� �  '�-

��#%���8�:;�( ���%������� $���� �����$� �!(8�< ! !��������' $��%�#�', ����8�-
!����' ��8��$� �%�$�$� (XHY). =���& bXHX, bYHY — #�"))�>���%� ��8$�����%�, ����-
8��?�� �������(�$�� �� ����!���� ������' 8��?���< ���� �!(8�< XH, YH ! �!������' 
$���#���' ( XH

0r  � YH
0r ) � ���� �!(8�< ! ��$$�%��?��' !��������' $��%�#�' X H X, 

Y H Y. @ ���%�(;�< ����%� �������!��� ���$���$��%& �����< )��$��� ��( �����-
��( 8�!���$��%� $���� ����?�%����$� $�%���$ )��#>������ ���%���%� (B3LYP/6-
31++G(d,p)) ����$�%��$� )��+$��%�! OHN � OHCl ��<%���&��', ������%��&�� � �%��-
>�%��&�� 8��(�����' $���#��(���' #�$���#��!. E�#�8���, ?%� ��� '����� !������8!�-
��% ���%������� $���� �����$� �!(8�< ! ���8#�' # ����<��$ !��������' $��%�#�'  
�, �����!�%��&��, $���% �����&8�!�%&�( ��� ������� ����#�+� #��+� 8���?, ! ?��%���%�, 
! %�' ���?�(', #�+�� $�%���$ ��� ��#���8�!�%& ��������� >��%���&��+� ���%��� ���#-
%�?��#� ��!�8$����.  
 
� $ % # ! � & !  ' $ � � �: !��������< $��%�#, ����� H-�!(8�, #!��%�!�-'�$�?��#�< ���-
?�%.  

�������� 

��%���!����� !8��$��!(8� $���� ����$�%��$� !��������' $��%�#�!, ����8�!����' #�# 
�����#�!�$� (XHX), %�# � ��8��$� (XHY) �%�$�$�, �����%�!�(�% ��%���� ��( >���+� �(�� ��-
���%�< )�8�#�, '�$��, �����+�� � %.�. (�$., �����$��, 1—5). =����� 8�!���$��%� $���� ���-
��$� �!(8�< %�#�' %��'�%�$��' )��+$��%�!, +��!��$ ����8�$, ����'���$� ��� �8�?���� 
�%�����( ��8��?��' $���#��(���' ����8�!���<, � %�#�� ���>����!, �����!����:;�'�( ����-
����$ ���%���, �����$��, ! %�' ���?�(', #�+�� �+� ��������� ��!�8$���� ��������%& $�%���$ 
���. 

@ ����%� [ 6 ] ��� ��������� ��!�< ������ %����%�?��#�+� �������( ���%������( $���� 
"#�����$��%��&��$� 8��?���($� ���� #�!����%��< (r1) � !��������< (r2) �!(8�< ! $��%�#�' 
OHO, ����!����< �� ��;�����(%�' �����%�!����(' � %�$, ?%� #��%���%& �!(8� !������%�( 
?���8 �� ��������� ! )��$� ����%��< "#������%�, � ��$$� ���(�#�! �!(8�< r1 � r2 �� !��' "%�-
��' �������� ���%��� ��!�� �����>�. E�����:;�( "%� ���%������� )��$��� 
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0,005—0,01 Å [ 6 ]. E�� "%�$ !���� �%$�%�%&, ?%� !�� !'��(;�� ! ��� ����$�%�� �$�:% ?�%#�< 
)�8�?��#�< �$���: r0 — ������� 8��?���� ����� �!(8� XH ! �!������' $���#���'; rsym — ���-
�%�(��� X H ! ��$$�%��?��$ $��%�#�; �%����& 5/3 — ��<�����( �8 "#�����$��%� #���%��%�;  
b — #�"))�>���% ��8$�����%�, ����8��?�� �������(�$�< �8 ���!����( b = (rsym – r0)/(ln2)3/5. 

���&��<��� ���$������ )��$��� (1) ��#�8���, ?%� ��� ���#!�%�� !������8!���% ���%��-
����� $���� �8$������$� $���%�$��$� ����%�(��($� ! $��%�#�' NHN, � %�#�� $���� ���-
�?�%����$� $�%���$ )��#>������ ���%���%� (B3LYP/6-31++G(d,p)) �����$� �!(8�< )��+$��-
%�! XHX (X = O, N, F, Cl) ��<%���&��', ������%��&�� � �%��>�%��&�� 8��(�����' $���#��(�-
��' #�$���#��! [ 7 ]. Z%� ��8!����� 8�#�:?�%&, ?%� �����( )��$��� �$��% ���!�����&��< '�-
��#%��.  

@ ��$#�' ��8!�%�( %����%�?��#�+� ���'��� [ 6 ] ! ����%� [ 8 ] ���� ���������� � ������� 
������!��� ��� �������� �����', ����?����' $�%���$ ��<%����+��)�� ��( ���8#�' # ����<-
��$ (� �+��$, ��!��$ 170—180�) )��+$��%�! OHN, )��$��� 

 
XH XH XHX 5/3 YH YH YHY 5/3

0 0(( )/ ) (( )/ )e e 1.r r b r r b� � � �� �  (2) 
��� '���#%���8��% 8�!���$��%& $���� �����$� �!(8�< ! !��������' $��%�#�', ����8�!����' 
��8��$� �%�$�$� (+�%���$��%�#�'), � ��8����%�( �� %�' �� ������������(' � 8����� %�' �� 
$���#��(���' ����$�%��!, ?%� � )��$��� (1). @'��(;�� ! !�������� (2) #�"))�>���%� ��8-
$�����%� bXHX, bYHY �������(:%�(, ��'��( �8 �8!��%��' �8 "#�����$��%� ������' 8��?���< 
���� �!(8�< XH � YH ! �!������' $���#���' ( XH

0r  � YH
0r ) � ���� �!(8�< ! ���%!�%�%!�:;�' 

��$$�%��?��' !��������' $��%�#�': bXHX = ( XH XH
sym 0r r� )/(ln2)3/5, bYHY = ( YH YH

sym 0r r� )/(ln2)3/5. 

@���� �%$�%�%&, ?%� ! ���?�� )��+$��%�! XHX ����������� ���$$�%��?��< $��%�#� (!-
�(�%�( �?�!����$. @ %�#�$ $��%�#�, '���#%���8��$�$ $���$��&��$ ����%�(���$ $���� %(��-
��$� �%�$�$�, ��!�� 8��?���( ����� �!(8�<, �' ���?���%� � #��%���%�. @ ���?�� �� )��+$��-
%�! XHY �!(8� �����#�!�< ����� ��� ������:% ��8��?��< %����%�< ����8�!���(. E�� "%�$, 
#�# ��#�8��� ! ����%� [ 8 ], +�%���$��%�# �� �!(8($� ��!��< #��%���%� (sXH = sYH = 0,5) �� (!�(-
�%�( ��$�$ #���%#�$, � �+� >��%���&��< ���%�� !��+�� �$�;�� ! �%����� %�+� �8 �%�$�!, #�%�-
��$� ���%!�%�%!��% $��&��� 8��?���� rsym.  

@�������� (2), �!��(;���( ��� X = Y # )��$��� (1), )�8�?��#� ������!���� � �$��% ��;�< 
'���#%��. E�"%�$� ��%��%!���� ���� ����������%&, ?%� ��� ��8!���% !������8!���%& ���%����-
��( $���� ����$�%��$� ���8#�' # ����<��$ )��+$��%�!, ����8�!����' ����8!��&��$� ����-
$� �%�$�! X � Y, � %�#�� �����!�%& ������ �����', ����?����' ��8��?��$� $�%���$�. ��( 
���!��#� %�#�+� ������������( ! ���%�(;�< ����%� ���!����� ���!����� ����?�%����' $�%�-
��$ )��#>������ ���%���%� 8�!���$��%�< $���� �����$� �!(8�< ! !��������' $��%�#�' OHN 
� OHCl, !'��(;�' ! ���%�! ��<%���&��' � 8��(�����' $���#��(���' #�$���#��! ��8��+� 
�%�����(, � %����%�?��#�$� �������($� "%�' 8�!���$��%�< �� )��$��� (2).  

����
(���� � �� �)��
����� 

���?�% ��%�$��&��' #��)�+���>�< ��<%���&��' � 8��(�����' $���#��(���' #�$���#��!, 
����$�%�� )��+$��%�! OHN � OHCl #�%���' �����&8�!��� ��� ������� ���%�!�����< 8���?�, 
��� !������� � ���$������$ ����' � %�' �� $�%��� � ������ ��8����' )��#>�< (B3LYP/6-
31++G(d,p)) �� ���+��$$� GAUSSIAN-98 [ 9 ]. ��#�%���� �8 "%�' ���%�$ ���� �8�?��� �����  
! ����%�' [ 10—12 ], �� �$�:;�' �%������( # ����$�%� �����+� �������!���(. ���?�%� ��( 
���&��< ?��%� $���#��(���' #�$���#��!, +��$�%��?��#�� '���#%����%�#� #�%���' ���� ���-
�����8���!���, ���!����� ! ���%�(;�< ����%�. =��?���( �����< "���+�� "%�' ��%�<?�!�' +�-
%�������>�%�!, � %�#�� ����� �!(8�< � �+�� �' !��������' $��%�#�! ���!����� ! %����>�.  

E��!�< �8 ����?����' %�#�$ ����8�$ ������! �����' �������% ����$�%�� 15 )��+$��-
%�! OHN ��<%���&��', ������%��&�� � �%��>�%��&�� 8��(�����' $���#��(���' #�$���#��!, 
����?�������' ! %����>�, � 7 $��%�#�! OHN ! �����&!�%�' ���%���, ����$�%�����' ! ����%� 
[ 10 ]. @%���< ����� ���%��% �8 ���� �!(8�< ! 27 )��+$��%�' OHCl ���%�$, ���!������' ! %��-
��>�, � ! 10 !��������' $��%�#�', ����������;�' +�%�������>��%�$ (��b�)m �(HCl)n (m = 1, 2,  
 



M.d. 	���
���@�, d.@. f
�M@�j  848 

������	���%� &������
 #�$��� '������ (E, �%. ��.) ��$���$
��%� ���#$�����,  
���������� ���	��� OHY (Y = N, Cl), �$�� ��
&�� rOH � rYH (Å) � ��$�� �XHY 

����#��(���< #�$���#� E r OH r HY �XHY 

(NH3)2 �CH3COOH  –342,272755 2,060 1,020 163 
(NH3)3 �HCOOH –359,521179 2,079 1,022 174 
(NH3)2 �HCOOH –302,944339 2,104 1,023 160 
(NH3)2 � (H2O)3

 –342,494996 2,010 1,026 178 
H2O �H+ �NO2C6H4NH3 (���)* –568,936523 1,697 1,055 179 
H2O �H+ �NO2C6H4NH3 (E��)** –568,934179 1,660 1,061 178 
(NH2 �CH3OH)– –171,706598 1,710 1,063 174 
(NH2 �H2O)– –132,398546 1,670 1,077 173 
((CH3)2N �H2O)– –211,017237 1,599 1,083 174 
(NH3)3 �HCOOH –359,521179 1,046 1,596 175 
(NH3)2 �HCOOH –302,944339 1,038 1,628 176 
(NH3)2 �CH3COOH –342,272755 1,028 1,660 175 
(NH3)2 � (H2O)3 –342,494996 1,006 1,745 176 
NH3 �H2O –133,013709 0,981 1,930 171 
CH3CN �H2O –209,207697 0,971 2,079 179 
H2O �HCl –537,249208 1,840 1,309 179 
CH3OH �HCl –576,550937 1,768 1,318 178 
C2H5OH �HCl –615,872699 1,758 1,319 177 
HCONH2 �HCl –630,727647 1,698 1,335 168 
(H2O)2 � (HCl)3 –1535,320883 1,520 1,374 179 
HCONH2 �(HCl)3 –1552,348755 1,463 1,395 174 
(H2O)3 � (HCl)2 –1150,962861 1,450 1,400 179 
(H2O)2 �H+ �HCl –614,005813 1,168 1,609 178 
CH3OH �H2O �(HCl)3 –1574,624712 1,153 1,617 177 
HCONH2 �(HCl)4 –2013,158038 1,134 1,650 173 
(CH3)2NCHO �(HCl)3 –1630,976126 1,120 1,664 174 
C2H5OH �H2O � (HCl)3

 –1613,948497 1,115 1,675 176 
H2O �H+ �CH3Cl –576,859650 1,076 1,779 179 
(CH3)2NCHO �(HCl)4 –2091,786948 1,059 1,799 170 
H2O �H+ �HCl –537,535540 1,038 1,902 180 
(CH3)2O �H+ �HCl �H2O –692,635116 1,024 1,914 176 
(OH �HCl �HCONH2)– *** –706,612996 1,024 1,933 178 
(OH �HCl �HCONH2)– **** –706,649752 1,031 1,936 170 
(OH �HCl � (CH3)2NCHO)– –785,233003 1,021 1,944 177 
H2O �H+ �HCl �(CH3)2NCHO –786,156362 1,002 2,037 172 
(CH3)2O �H+ �HCl –616,174577 1,000 2,080 170 
(OH �H2O �HCl)– –613,191037 0,996 2,129 165 
(OH �HCl)– –536,732579 0,992 2,185 165 
C2H5OH �H2O � (HCl)3

 –1613,948497 0,978 2,263 174 
CH3OH �H2O �(HCl)3 –1574,624712 0,978 2,276 174 
(H2O)3 � (HCl)2 –1150,962861 0,974 2,345 171 
(H2O)2 � (HCl)3 –1535,320883 0,973 2,377 172 

E � � $ � ? � � � �. ����< 8!�8��?#�< ��$�?�� $�%���%�������� (���), �!�$( 8!�8��?#�$� — ����-
��%�������� (E��), %��$( � ?�%��&$( 8!�8��?#�$� ��$�?��� �!� #��)��$��� �%��>�%��&�� 8��(�����-
+� +�%�������>��%� (OH �HCl �HCONH2)–, ! #�%���' �%�$ #�������� +����� OH !8��$���<�%!��% � �%�-
$�$� !������� $���#��� HCONH2, !'��(;�$� ! ���%�! +���� NH2 � HCO ���%!�%�%!����. 
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���. 1. =�!���$��%& $���� ����?�%����$� 8��?���($� ���� �!(8�< ! $��%�#�' OHN (�) � OHCl (�). 
��( (�): 1 — %����%�?��#�( #��!�(, 8������( )��$���< (2), 2 — ��8��&%�%�, ����?����� ��( ��<%���&��', 3 — ��( 
������%��&�� 8��(�����', 4 — ��( �%��>�%��&�� 8��(�����' $���#��(���' ���%�$. 	����%�?��#�� #��!��, 8����- 
                                            ��� )��$���< (1): 5 — ��( $��%�#� OHO, 6 — ��( $��%�#� NHN. 
��( (�): 1 — %����%�?��#�( #��!�(, 8������( )��$���< (2), 2 � 3 — ��8��&%�%�, ����?����� ��( ��<%���&��' +�%�-
������>��%�!, ! #�%���' ���%!�%�%!���� �� ����8���� � ����8���� ������� ���%��� �% ����< $���#��� # ���+�<,  
4 — ������, ����?����� ��( ������%��&�� 8��(�����', 5 — ��( �%��>�%��&�� 8��(�����' $���#��(���' ���%�$.  
                   	����%�?��#�� #��!��, 8������� )��$���< (1): 6 — ��( $��%�#� OHO, 7 — ��( $��%�#� ClHCl 

 
n = 1—4) [ 11, 12 ]. E���'��( # �����8� "%�' ��8��&%�%�!, �%$�%�$, ?%� ���� ! ���?�� "#�����-
$��%��&�� �8�?����' )��+$��%�! OHO [ 6 ], NHN [ 7 ] � OHN [ 8 ] ���8#�$� # ����<��$ �?�%�-
�� $��%�#�, �8+�� #�%���' �� ���!���� 10�, %� ! ���?�� ���?�%��' �����' — $��%�#� � �+��-
$� 160—180� [ 7 ]. 	�#�< #��%���<, �����������< � ������!����< ! ����%� [ 7 ], ����!��� ��-
�(, ��"%�$� �� ��� �����&8�!�� � ! ���%�(;�$ �������!����. 

������ �����' ��( )��+$��%�! OHN � OHCl �����%�!���� ��8��$� ��$!���$�, �%!�-
?�:;�$� ��<%���&��$, ������%��&�� ���� �%��>�%��&�� 8��(�����$ +�%�������>��%�$,  
� %�#�� $���#��(���$ #�$���#��$, ! #�%���' ����8���� ������� ���%���, �� ���. 1, � � � ��-
�%!�%�%!����. �����$� ����($� (#��!�� 1) �� "%�' �����#�' �8�������� 8�!���$��%� 
rNH(rOH) � rClH(rOH), ����?����� ��( #����+� �8 �8�?��$�' $��%�#�! �� )��$��� (2). @'��(;�� 
! ��� !���?��� r0 � rsym ���� ��<���� � ������� ���$����� ��� �������� ���%������< $��-
�� ����$�%��$� )��+$��%�! OHO, NHN � ClHCl ! ����%� [ 7 ]: OH

0r = 0,965, OH
symr = 1,200; 

NH
0r = 1,010, NH

symr = 1,300; ClH
0r  = 1,287, ClH

symr = 1,582 Å. E�� "%�$ ���� ��#�8���, ?%� ��( ���#!�%-
��+� �����#�8���( !8��$��!(8� $���� !�?�������$� ����$�%��$� !��������' $��%�#�! ��-
��%��&��, ?%��� %�?���%& 8�����( !���?�� r0 � rsym ���� �� ���� 0,005 Å.  

�8 ���. 1 !����, ?%� �����%�?��#�� !�������� (2) '����� !������8!���% ��8��&%�%� #!��-
%�!�-'�$�?��#�+� ���?�%� �� %��&#� ��� ����8�!���� �%����%��&�� �����' !��������' �!(8�<, 
�� � ! ���?�� ���%�%�?�� ���&��' !8��$���<�%!�< (rOH 	 1,15, rNH 	 1,6, rClH 	 1,6 Å). E��!�-
������ ������ �����%��&�� �!���%��&�%!�:% � %�$, ?%� ����� �!(8�< )��+$��%�! OHN  
� OHCl, ����������;�' ��<%���&��$, ������%��&�� � �%��>�%��&�� 8��(�����$ $���#��(�-
��$ #�$���#��$, ���?��(:%�( ����$ � %�$ �� (��� �?��& ���8#�$) 8�!���$��%($. ���?�% +�-
%�������>��%�! (��b�)2 � (HCl)n (n = 2—4), ��b� �(HCl)n (n = 3, 4), C2H5OH �H2O �(HCl)3, 
CH3OH �H2O �(HCl)3 � HCONH2 �(HCl)4 ��#�8��, ?%� "%� )��$��� ����!����!� %�#�� ��( $��%�-
#�! OHCl, ! #�%���' ����8���� ������� ���%��� �% ����< $���#��� # ���+�< (�$. ���. 1, �  
� %����>�). ������% �%$�%�%& � %�% )�#%, ?%� !� !��$ �8�?����$ �����8��� �8$�����( ���� 
�!(8�< OH, NH � ClH %�?���%&, � #�%���< %����%�?��#�� #��!�� ������:% '�� ��������$�' 
���?�%��' 8�!���$��%�<, �#�8����& �� '���, ?�$ ��� ����$�%����� )��+$��%�! OHO, NHN  
� ClHCl [ 7 ]. 
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���. 2. =�!���$��%� $���%�$��' ����%�(��< rON (1), rOH (2) � rNH (3) (�) � rOCl (1), rOH (2) � rClH (3) (�)  
�% #��%���%� �!(8� sOH, ����?����� � �����&8�!����$ )��$��� (2) ��( ����?�%����' (�������� �����)  
                   � �8�?����' ! ����%� [ 8 ] "#�����$��%��&��' (�%��'�!�� �����) ������! �����' 

 
�� ���. 1 %�#�� �����%�!���� ��8��&%�%�, ��#�8�!�:;��, #�# %����%�?��#�( #��!�(, �%!�-

?�:;�( $��%�#� XHY, ���%����%�( � �����+�?��$� #��!�$�, ���%������$� ��( )��+$��%�! 
XHX � YHY � �����&8�!����$ )��$��� (1). 	�#, ���� �8 ���$�%�% #����< #��!�<, ���%!�%�%-
!�:;�< +�%���$��%�#�, ��!�����% � ���$�%�%�< #��!�<, '���#%���8�:;�< )��+$��% OHO 
( OH

0r = 0,950 Å, �$. ���. 1, �, �), � ���+�( — )��+$��% NHN ( NH
0r = 1,010 Å, �$. ���. 1, �) ��� 

ClHCl ( ClH
0r = 1,287 Å, �$. ���. 1, �). E�� "%�$ ���$$�%��( #��!�<, �����!�:;�< 8�!���$��%& 

$���� �����$� �!(8�< ! $��%�#� XHY, %�$ !���, ?�$ ���&�� ��8���%& !���?�� XH
0r  � YH

0r . 
��'��( �8 �����%�?��#�+� !�������( (2), $���� �����%�!�%& ����� +�%���$��%�#� � ��-

��8�:;�' �+� �!(8�< #�# )��#>�� #��%���%� �:��< �8 ��'. @ #�?��%!� ���$��� ����$�%��$ 
8�!���$��%& �% #��%���%� sOH !���?�� rON, rOH, rNH (���. 2, �) � rOCl, rOH, rClH (�$. ���. 2, �).  
@ ���?�� $��%�#� OHN �(��$ � #����< #��!�< 8�!���$��%�, ����?����< �� ����!���� ��8��&%�-
%�! #!��%�!�-'�$�?��#�+� ���?�%�, ���#%���$ ���!����� #��!�( �����+�?��< 8�!���$��%�, ��-
��?����( ��%�$ �����8� � ������%#� "#�����$��%��&��' �����' (�$. [ 8 ]). �����%�!����� !��' 
%��' ��� #��!�' ��#�8�!��%, ?%� '�� ���?�%��' 8�!���$��%�< �?��& ���8�# # '��� "#�����$��-
%��&��' ($�#��$��&��� ���'������( )��#>�<, ���%!�%�%!�:;�' ����$� � %�$� �� 8��?���: 
sOH, ���%�!�(:% 0,05—0,07 Å). 	�#�$ ����8�$, ��%& ����!���( ����+�%&, ?%� �����&8�!�����  
! ���%�(;�< ����%� $�%�� ���?�%� � ����� ��8����' )��#>�< ������?�!�:% !�8$�����%& ��� 
�%��%�%!�� ����'���$�' "#�����$��%��&��' �����' � '�����< %�?���%&: �>���!�%& ����-
$�%�� +�%���$��%�#�!.  

E��!������� �� ���. 2 ������ ��8!��(:% %�#�� #���?��%!���� �'���#%���8�!�%& ������-
���%� �%�����( )��+$��%� XHY, �� #�%���' ���� �#>��%���!��� !��$���� ! ����%� [ 8 ]. o��-
%���&��< ���%�� ! $��%�#�' OHN � OHCl �� �!(8($� ��!��< #��%���%� �$�;�� ! �%����� �%�-
$� #��������, %�# #�# ! ����' ���?�(' �$� ���%!�%�%!��% $��&��� 8��?���� rsym: rNH – rOH = 
= 0,1, � rClH – rOH = 0,382 Å. E�� "%�$ ����%�(��( $���� %(����$� �%�$�$� �#�8����' $��%�-
#�! (rNH + rOH = 2,5, rClH + rOH = 2,782 Å) �� (!�(:%�( ������&�� #���%#�$�: $���$��&��( ���-
�� )��+$��%� OHN ���%�!�(�% 2,494 Å (��� sOH = 0,3844), � )��+$��%� OHCl — 2,775 Å (��� 
sOH = 0,3633)*. 	�#�$ ����8�$, #��%���%� �!(8�< ! ��$�' #���%#�' +�%���$��%�#�' 8�$�%�� �%-
��?�:%�( �% !���?��� 0,5.  
 
                                                                 
    * ����$��&��: ����� +�%���$��%�#�! �� �����$ ���. 2 (#��!�� 1) $���� �>���%& ���& ���������-
��. 	�?��� 8��?���( rXY � ���%!�%�%!�:;�< �$ #��%���%� �!(8� rOH ���� ���������� �� ����!���� ?��-
�����' �����', �� #�%���$ �%������& #��!�� 1. 
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���. 3. =�!���$��%& $���� ����?�%����$� � �����&8�!����$ )��$��� (2) 8��?���($� ���� $��%�#� 
OHN � ����8�:;�' �+� �!(8�<: 1 — rOH, 2 — rNH (�), � $��%�#� OHCl � ����8�:;�' �+� �!(8�<: 1 — rOH,  
                                                                                 2 — rClH (�) 

 
M�%��%!����$ �����%!��$ �%$�?����' ���%�(%��&�%! (!�(�%�( %�, ?%� ��!���%!� ���� �!(-

8�< XH � YH ����:���%�( ��� �;� ���&��$ ��8��?�� !���?�� sXH � sYH (�$. ���. 2). 	�#, ���-
%�� ��'���%�( �%��+� ! >��%�� )��+$��%� OHN (rOH = rNH = 1,247 Å), #�+�� #��%���%� �+� �!(8�< 
�%��?�:%�( �� 0,2186 (sNH = 0,6093, sOH = 0,3907)*, � ! >��%�� $��%�#� OHCl (rOH = rClH = 
= 1,405 Å), ������� %(����' �%�$�! #�%���+� ��8��?�:%�( �;� ���&��, — ��� ��8���%� #��%-
���%� �!(8�< 0,7287 (sClH = 0,8641, sOH = 0,1359). 

E��!������� �� ���. 2 ������ ��8!����� ��������%& �;� ���� ��%������< )�#%. ����� 
����' �8�?����' +�%���$��%�#�! ��%��%�( ���#%�?��#� ���%�(���< ! �?��& ����#�$ �����8�-
�� 8��?���< #��%���%� �!(8�<. 	�#, )��+$��%� OHN, ����%�(��� rON ! #�%���' $���� ?�$ �� 
0,1 Å ���!����% $���$��&���, �����8�:%�( ��� 0,0598 < sOH < 0,8344. E�� "%�$ ����� ����' 
�!(8�< $��%�#� ���%����!�:% ��;��%!����� �8$�����(: rOH �$��&���%�( �% 1,510 �� 1,070 Å,  
� rNH �!���?�!��%�( �% 1,078 �� 1,524 Å (�$. ���. 2, �). @ ���?�� )��+$��%�! OHCl �$��% $��%� 
�����+�?��( #��%���. ���%�#�, ����%�(��� rOCl ! #�%���' �� ���!����% 2,875 Å, ����8�:%�(  
! ��%��!��� 8��?���< #��%���%� 0,0549 < sOH < 0,8101. E��?�$ ��!�����%���%& ����� $��%�#� 
����:���%�( ��� ���&��$ �8$������ ���� �+� �!(8�<: 1,080 
 rOH 
 1,520 Å, 1,352 
 rClH 
 

 1,785 Å (�$. ���. 2, �). 

�8 "%�' ��8��&%�%�! ������%, ?%� ����������� #!�8���$$�%��?��+� !��������+� $��%�#�, 
�)��$�����!����� ��( )��+$��%�! OHO [ 13 ], �� ����% ��;�+� '���#%���. ���� ! %�$, ?%� 
����� )��+$��%� OHO ������ ?�!�%!�%��&��� (�� ���!����: � $��%�#�$� OHN � OHCl) # �8-
$�����: ���� �+� �!(8�<: ����%�(��� rOO !�8���%��% �� 0,1 Å ��� ��� �%����%��&�� �����&��$ 
�$�;���� >��%���&��+� �%�$� !������� — �� 0,155 Å. E�"%�$� %��$�� �#!�8���$$�%��?��( 
!��������( �!(8&�, �����8�$�!�:;�< ���#%�?��#�: ��!�����%���%& �� ����$�%��! � ���$�-
��$�< # $��%�#�$ OHO, '���#%���8��$�$ �$�;����$ ���%��� �� 0,05—0,10 Å (�$. [ 8 ]), ! ���-
?�� +�%���$��%�#�! �� (!�(�%�( ���!�$����$. 

d��)�#� 8�!���$��%� $���� ����?�%����$� � �����&8�!����$ )��$��� (2) 8��?���($� 
���� )��+$��%� XHY � !'��(;�' ! �+� ���%�! �!(8�< (���. 3) �$�:% ! ���!�: �?����& ���-
#������ 8��?����. ��� ��8!��(:% ! ��%��>�(', #�+�� �8 "#�����$��%� $���� ��������%& ���& 
����%�(��� $���� ����8�:;�$� !��������< $��%�# %(����$� �%�$�$� (%�#�� ��%��>�� !�8-

                                                                 
* E�� �����+�?��$ �����8� "#�����$��%��&��' �����' ����?��%�(, ?%� ���%�� ��'���%�( ! >��%�� 
)��+$��%� OHN (rOH = rNH = 1,252 Å), #�+�� #��%���%� �+� �!(8�< �%��?�:%�( �� 0,1566 (sNH = 0,5783, 
sOH = 0,4217). 
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$����, �����$��, ��� �������!���� #���%����?��#�' ���%�$ $�%���$ ���), �>���%& ������-
��� �+� >��%���&��+� ���%���.  


��!�� 1 �� ���. 3, � � � �%!�?�:% 8�!���$��%($ rOH(rON) � rOH(rOCl), � #��!�� 2 — 8�!�-
��$��%($ rNH(rON) � rClH(rOCl) ���%!�%�%!����. ��<�( ������%� %�?�#, ! #�%���' !��%�#��&��( 
��($�( � ���>����<, ��!��< ����� �8�?��$�+� $��%�#� XHY, ������#��% #��!�� 1 � 2, $���� 
����?�%& �!� !�8$����' !�����%� ��#���8�>�� ���%���*. ���� ���� 8��?���< rXH � rYH ���%-
!�%�%!��% ������%�$ %�?�#, ������������' �� !��'��< !�%!� #��!�< 1 � �����< !�%!� #��-
!�< 2, � !%���( ���� — ������%�$ %�?�#, ����������;�' �����< !�%!� #��!�< 1 � !��'��< — 
#��!�< 2. @� !��< �����%� 8��?���< rXY, ���!���:;�' 2,5 Å ��( $��%�#�! OHN � 2,8 Å ��( 
$��%�#�! OHCl, ! ���!�< ���� �!(8�< rXH (!�(�%�( #�!����%��<, � rYH — !��������<. @%���( 
���� �!(8�< �%!�?��% ����%��< ��%��>��. ��( ����8��?��+� ����������( ��������( >��%���&-
��+� ���%��� ! #����< #��#��%��< ���%�$� ����'���$� ���!��#�%& ��������� 8����( � �!�<-
�%!�' ����8�:;�' �� $���#��. 

������ 

��8��&%�%� ���%�(;�+� �������!���( �!���%��&�%!�:% � %�$, ?%� )��$��� (2) ��8!��(�%:  
— � '�����< %�?���%&: �����!�%& 8�!���$��%& $���� ����?�%����$� $�%���$ )��#>��-

���� ���%���%� (B3LYP/6-31++G(d,p)) ����$�%��$� ���8#�' # ����<��$ )��+$��%�! OHN  
� OHCl ��<%���&��', ������%��&�� � �%��>�%��&�� 8��(�����' $���#��(���' #�$���#��!;  

— ��'���%& ��������� >��%���&��+� ���%��� ! !��������' $��%�#�', ��( #�%���' �8 
"#�����$��%� �8!��%�� ���& ����%�(��� $���� %(����$� �%�$�$�.  

�8 ����?����' � �����&8�!����$ "%�< )��$��� 8�!���$��%�< r(sOH) ������%, ?%�: 
— ����� �8�?����' +�%���$��%�#�! ��%��%�( ���#%�?��#� ���%�(���< (!�8���%��% $���� 

?�$ �� 0,1 Å) ! �?��& ����#�$ �����8��� 8��?���< #��%���%� �!(8�<: 0,055—0,06 < sOH < 0,81—
0,83. E�� "%�$ ����� ����' �!(8�< $��%�#� �8$��(:%�( �� 0,4—0,5 Å; 

— %��$�� �#!�8���$$�%��?��( !��������( �!(8&�, �$�:;�< ?�%#�< )�8�?��#�< �$��� 
���$���%��&�� # $��%�#�$ XHX, ! ���?�� +�%���$��%�#�! �� (!�(�%�( ���!�$����$. 

 
����%� !�������� ��� )������!�< �������#� �����<�#�+� )���� )����$��%��&��' ��-

�����!���< (����#%� q 07-03-00329 � q 08-03-00361). 
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* �%��+� +�!��(, ��( ��'������( ��������( >��%���&��+� ���%��� ! $��%�#� XHY ���%�%�?�� �$�%& 
���� �8 ����$�%��!��$�' #��!�' — 1 ��� 2. ��� #��!�� �� ���. 3 �����%�!���� ��( ���&��< ��+�(���-
�%� � ������?���( !�8$�����%� ���!����( '��� 8�!���$��%�<, �%!�?�:;�' ��8��$ �!(8($. 


